Bike Rack Installation Instructions
Cora Bike Rack - E3ZGT Rack Series

This instruction sheet is to be used for the E3GT Series Rack.

E3GT-H

mount rack

E3GT-L

Ground Tier Low

mount rack

Cora - E3GT Bike Rack Series (E3GT H and L shown)

Ground Tier High

Components for E3GT Rack used in assembly

E3GT-R
Ground Tier

E3GT-PL
Ground Tier
Low post

E3GT-PH S
Ground Tier
High post

M10 Bolt
(X4 per rack)

M10 Nut
(X4 per rack)

Anchor Bolts
(X4 per post)

3

Security shear nuts
(X4 per post)

{

M10 Washer
(X4 per rack)

1. Site selection

When selecting a site for your new bicycle rack, the most important advice is - do not try to hide it, as it will
not be used! Suitable locations include;

Adjacent to entrance doors and in line of sight of a window

Near high pedestrian traffic

A flat location at the same surface level which cyclists use for access

Covered areas

Other things to remember;
Where a rack is being installed at an existing location, the rack should be placed where bicycles are

currently parked

* When using a garage location, it is recommended to use a parking bay that is adjacent to an end wall

nearest to an entrance door.

Cora Bike Rack - Australia’s Bike Parking Experts - WWW.CORA.COM.AU - PH 1800 249 878

Rev 4.00 May 2020 ©



Bike Rack Installation Instructions
Cora Bike Rack - E3ZGT Rack Series

2.Access and clearance

350 400 400 400 400

v
A
A
Y

A
Y.

For Multiple mounted racks
If multiple racks are

‘ @ . SR ! mounted in a row. Racks
i must be alternated in

height. Alternate use of

D E3GT-PL and E3GT-PH

E3GT-PH Ground Tier High post

E3GT-PL Ground Tier Low post

THHHEHHHHHE FHEAH Y

Horizontal rack spacing showing alternating heights

1860 1860

'y
v
A
v

1 iu T T 1 I T T m: J]

1500

T

i

Access aisle

( iu T T - - 0 I L L m: )

¢ iu T — T | i T — T m: D

tHEEHEAHAH - FHEHH A

tHEEHEAHHHEFHEHH

Single sided, double row layout

2000 3200 2000

A
v
A
v
A
v

: P
Access aisle do T 1 Access aisle

I S
m
[:
il
il
R e

Double sided nested rack layout

Access dimensions around racks

* Before mounting rack, find a suitable place that will allow for minimum spacing dimensions

* Ensure min distance of 1500mm (or 2000mm if double sided) is provided for correct aisle space
and access for bikes

* Ensure minimum spacing from walls, other racks or obstructions to allow for minimum access

Cora Bike Rack - Australia’s Bike Parking Experts - WWW.CORA.COM.AU - PH 1800 249 878 Rev 4.00 May 2020 ©



Bike Rack Installation Instructions
Cora Bike Rack - E3ZGT Rack Series

Rev 4.00 May 2020 ©

WISy S
>
%) o [®) >0
. C
% mmmmmmmMmmﬁmm.m.w.mmmmmmwmm\HH\HHH N % %
o a * | : TR 05
02 Al IO T O N 3 N O 1
\\\\\\\\\\ [ FYSSSP S Sl S —————————
iS) £ ] HHHHHHH.\LA cO © n c
€O O o >Z o =z
Q cmlv 2 c v o o ﬂcnlu 0]
s o ____ < ol ____ g oo £ 99529
=X ‘\\H\HHHHHHHHHHH.\..\.\..\.\HHMHHHHHHH @c 5 € =0 o) jeR=e;
s Cpmmmmm—y oo e50 o C >C O
c o iz r ] f ' = © L X D 555
P : o - © 2 ©
O O (! P I H H c 00 9] Q o ©'C o)
5= it il I i H co o x o< C =03532<
T 4 AN S S N S . S 3G= = 3} Y9G 583350
X e e et It Tatetetutelulustunl e > © O N © v c @© Cc o orp () ©
S50 S N R Fahs ~ c =B T ownwogp¥c
@ (o) (@] @] O = % © - ad w - W ©
= = - =0~ mh
5C o ol = 355 33&
||||||||||||||||||||||||||| © ) bt
M M HuuuuuuuHu\\\\\\HHHHHHHHHH\H\\ - LY w. c = N o
AlU o vm \\\\\\\\\\\\\\ _H,\\\A,ﬂ\l/d,/ m nk 2 O%/.\t
Nt N I N OO c ©
Q i ] ) = OESENe)
l / X 0O HhEo© Q
gd \\\\\\\\\\\\\\\\\\\\\ [ R B 2/ o} R 2 v
0} s ftajalutsipiajaluju —— E H o Lo>Dz2225>
B S J
i) o) o) Ral
c O
L
S5 C
(O ITs)
PN
€
- -
g £ s
n
0 3 v oCwn o
Qo — + 58 c
09 R w2 S — o % ca ° °2 3
cv N I e S fefiosfostysfosein it ) © & @©
oE oA TTTY = m 96 o oG C
© O P I H H O ) c c c < n
o< |\ R i I £ o ~T © Y Cc
= [N [ T - [ N — O ] + + 0
v g \\4\AHHHHHH\wUHH-I\““|\||\|HHHHHHHHHHH (e m + w (%2} U\l/ %
= B s © e} c c
_..mlu m + o ©) - B O NJ iy O M m
59 g e 2 55E 2 85 8 > B/
ﬁlu Alu 0.V ) m @ 2 = n 5 o C
e c 825 ¢ =5 £ £3 3 ]
S Ly £ <00 o £ R e S R= )
o S Sco o ,Mm OSc'_ 4o % S5
=2 [S) @) SEeP c Q n C
|m + ) © byt o V5 © C o= ~ QO - ® + C
© = u N >0 n 0= Q cx < ©] ST
© O c . £ C U.m @) X % ) % ©
09 S v 9 ©ET . o7z, 22gy32
S5 P o 0 2590 1) mw ST 5030 =0
FAe) =z S N B o O¢ o CD®m V=7 0
o © m @) \\VHHWM,LAHHH,\H_HHHHHLV\\\H.HHUHHHHHHH m m.v @] m Y m ..c“ m [OXNT) nb > 0 o [3)
= - 7 L H ' =0 - o) = P A
€5 oo | AR H H GEoE o Soz%c8cs5<
g S N T tsms I o — == & + ovc o SO cC g O
e} m Lm & \\47!\\4\H\H\HHHHHwUHH\l“l\ll\lHHHHHHHHH\H\H\ n ' - O % _1 m eb T n G © /|\_|
w = S50 Q ) Do00O® o
O © [OS — )| X
1O O Ra
. > wwozl L
<

Cora Bike Rack - Australia’s Bike Parking Experts - WWW.CORA.COM.AU - PH 1800 249 878



Bike Rack Installation Instructions
Cora Bike Rack - E3ZGT Rack Series

6. Fix racks to tops of posts

Fix one rack to the top of
each mounted pole

Use supplied M10 bolt, nut
and washer, with one (x1)
screw and one (x1) washer
per hole. A total of four (x4)
bolts should be used to fix
each rack to each post

7. Installation complete

Installation of the Cora E3GT Series
Rack is now complete

2 DTRE: star

PH 1800 249 878

sales@cora.com.au

B I K E R AC K WWW.COra.com.au

Cora Bike Rack - Australia’s Bike Parking Experts - WWW.CORA.COM.AU - PH 1800 249 878 Rev 4.00 May 2020 ©



